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Note : Attempt questions from all the Sections as

per instructions given in each Section.

Section—A

Note : Answer any two questions from this
Section. 2x20=40

1. Explain with example the difference between
demand and effective demand. What are the
factors that influence the demand of a
commodity ? How can you derive a demand

curve and demand function from a demand
schedule ?

P.T.O.
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2. What is consumer’s equilibrium ? Explain
consumer’s behaviour in terms of Marshallian
law of equi-marginal utility. Also use this law

to explain the law of demand.

3. Discuss the various forms of production
function. Why does law of diminishing returns

operate ?

4. What is price discrimination ? State the
necessary conditions to be satisfied for price
discrimination. Explain how will a profit
maximising monopolist distribute his total
output in different markets and what prices

will be charged in each market ?
Section—B

Note : Attempt any three questions from this
Section. 3x10=30

5. What is the difference between accounting
profit and economic profit ? Discuss profit as a

reward for innovation.

6. Explain how production flow, income flow and
expenditure flow in an economy are related to

each other ?
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7. Explain the Friedman’s version of demand for

money.

8. What are externalities ? Explain the Pigouvian

method to deal with externalities.

9. What is marginal propensity to consume ?

Given :
Y=C+1
where :
C=C,+by
I=1,+ay
C, =65
I,=70
b=0.6
a=0.2

Find the equilibrium level of income.
Section—C

Note : Attempt all the questions from this Section.

2%x15=30

10. Distinguish between any three of the
following :

(1) Micro vs. Macro Economics

(i1) Equilibrium and Disequilibrium

P.T.O.
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(i11) Short-run and Long-run
(iv) Stock variable and Flow variable

(v) Long-run Average Cost and Long-run
Marginal Cost

Explain any three of the following :
(1) Terms of Trade

(i1) Public Goods

(i11) Market failure

(iv) Offer curve

(v) Daivision of Labour
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(iii) STCYHTA TH Ireehlel
(iv) €I =X TF Jaig =N
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